\ COPYRIGHT ALL RIGHTS RESERVED DO NOT SCALE. )
NUT=371  WASHER—372
FRAME 3/8” UNC. NYLOC  3/8" x 1” COUNTER BORE
HARDWOOD 6 REQD 12 REQD 28 DIA. x 10 DEEP
150x50 . FRAME
~——" N HARDWOOD
, _ ; / 150x50 /
___ - __ aash
1 | _
_ _ 50 AS SAWN COUNTER BORE ! 50 AS SAWN
_ | 28 DIA. x 10 DEEP _
/ _ 7 _ _ 7
e ~ \
| / o
BOLT—370 -
3/8"UNC. x3” "
BOLT—737 T - 4 REQD BOLT=370 \r.|| MMA
3/8"UNC. x3—1/2" - s B NUT=371
2 REQD WASHER—-372 3/8 AN // 3/8"UNC. NYLOC
3/8" x 1" — /# REQD
WASHER—372 _
3/8" x 17 WASHER—-372 / ,@wqmm 572
NUT—371 3/8" x 17 50 / X
BKT—FRAME—290 3/87UNC NYLOC 8 REQD BKT—FRAME—290
1 REQD
— BKT—FRAME—290 — I~
2 REQD
/ / % /
-t - B
2
150 AS SAWN 150 AS SAWN 90 140
m..
= O H==eor
1
N
\ \ ) \
50 NOTE—FOR SALT WATER ENVIRONMENTS, 50
AS SAWN USE NYLON WASHERS BETWEEN THE S S NOTE —ALL FASTENERS ARE
ALUMINIUM BRACKET AND STAINLESS CORROSION RESISTANT
CROSS MEMBER DETAIL WASHERS CORNER BRACKET DETAIL STAINLESS STEEL.
- ™ |SCALE| NT.S DRAWING No.
MARINE DOCK SYSTEMS FRAME ASSEMBLY ey —
PTY LTD DETAL BKT—FRAME—290 | [sfihs| praw sw | A4-736
\_ DATE |08,07,97|REV | B )




